KENDRIYA VIDYALAYA SANGATHAN (BHOPAL REGION)
CLASS 5 CBT AUGUST 2025
ANSWER KEY

SECTION A: ENGLISH

Q Read the passage carefully and answer the questions-
(Question 1,2,3,4 are based on passage)

It was a summer afternoon. Gopi was sitting in the veranda, reading a book. Suddenly, he heard
something rustling past and falling with a thud in the garden. He wondered what it could be.
Perhaps, it was a mango falling from the tree. Immediately, Gopi put his book aside, got up, and
raninto the garden. He searched in between the thick grass near the garden fence. But he found
nothing. He looked among the bushes. Nothing was there. Then his eyes fell on a heap of dry
leaves. There was a white ball on the heap.

1.What was Gopi doing when he heard the sound?

A. Sleeping in his room

B. Watering the garden

C. Reading a book in the veranda

D. Playing with a ball

Ans-C) Reading a book in veranda -

EXPLANATION - Based on comprehension passage - Gopi was sitting in the veranda, reading a
book.

2.What did Gopi think had fallen in the garden?
A. Atoy

B. A branch

C. A coconut

D. A mango

Ans-D) A mango

EXPLANATION — Based on comprehension passage , it was a mango falling from the tree



3.Where did Gopi finally find something?
A. In the bushes

B. In the thick grass

C. On the veranda

D. On a heap of dry leaves
Ans-D) On the heap of dry leaves

EXPLANATION — Based on comprehension passage - Nothing was there. Then his eyes fell on a
heap of dry leaves.

4.What was lying on the heap of dry leaves?

A. A white ball

B. A red kite

C. A fallen fruit

D. A broken branch

Ans-A) A white ball

EXPLANATION - Based on comprehension passage , There was a white ball on the heap.
5.ldentify the pronoun in the sentence:

“He looked among the bushes.”

A. He

B. looked

C. Among

D. Bushes
Ans-A) He
EXPLANATION — Based on grammar, He is the only pronoun in the sentence.

6.Choose the correct past tense verb:



“Papa __ hisspectacles.”

A. lose

B. lost

C. losing

D. loses

Ans-B) Lost

EXPLANATION -Based on grammar - the past form of loose is lost.
7.Choose the correct article:

“ spectacles were on his forehead.”

A A

B. An

C.The

D. Some

Ans-C) The

EXPLANATION - Based on grammar , spectacles have two glasses so The will use.
8.What does the word “spectacles” mean?

A. Shoes

B. Hat

C. Eyeglasses

D. Gloves
Ans-C) Eyeglasses

EXPLANATION - Spectacle means eyeglasses, rest are not the meaning of spectacles.

9.What does “thorough search” mean?



A. A quick look

B. A lazy search

C. A detailed and careful search

D. A noisy search

Ans-C) A detailed and careful search

EXPLANATION - Meaning of thorough search is A detailed and careful search, rest options are
not the meaning of A detailed and careful search

10.The correct meaning of word ‘dribble’
A. To speak to proudly
B. A soft crackling sound
C. Moving a ball with small taps
D. Take something with a sudden movement.
Ans-C) Moving a ball with small taps
EXPLANATION - The correct meaning of word ‘dribble’ is Moving a ball with small taps
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SECTION C: MATHEMATICS

Q-1. Population of four towns are as follows. Which of the these have more highest
population?

A) Town A : 45,320

B) Town B: 54,320

C) Town C: 53,420

D) Town D: 43,520

Ans- B) Town B: 54,320

EXPLANATION - 54,320 is greater than all the other given options.

Q-2. Price of a scooter is Rs. 74,628. Which number is the nearest in thousands to this value:
A) 75,000

B) 74,000

C) 74,600

D) 76,000

Ans- A) 75,000

EXPLANATION - 628 > 500, so round up to 75,000.

Q-3. Asha is setting a new code for her toy locker. The code must be a 6-digit number, and she
wants to use the smallest one possible. What number should Asha choose?

A) 99,999

B) 1,00,000

C) 10,000

D) 1,00,001

Ans- B) 1,00,000

EXPLANATION - The smallest 6-digit number is 1,00,000.



Q-4. Choose the correct expanded form of 32,105:

A) 30,000 + 2,000 +10+5

B) 30,000 + 2,100 + 5

C) 30,000 + 2,000 +100+0+5

D) 30,000 + 2,000 + 100 + 50

Ans- C) 30,000 + 2,000+ 100+0+5

EXPLANATION - This is the correct expanded form of 32,105.

Q-5. What comes next in the pattern: 10,000 — 20,000 -30,000—- __ ?
A) 35,000

B) 40,000

C) 50,000

D) 45,000

Ans- B) 40,000

EXPLANATION - This is an increasing pattern of 10,000.

Q-6. What is the place value of the digit 8 in 1,82,394?

A) 800

B) 80,000

C) 8,000

D) 80

Ans- B) 80,000

EXPLANATION - 8 isin the ten thousand place: 8 x 10,000 = 80,000.

Q-7. What comes exactly in the middle of 20,000 and 30,0007
A) 25,000

B) 22,500

C) 24,000

D) 26,000

Ans- A) 25,000

EXPLANATION - (20000 + 30000) + 2 = 25000.

Q-8. In the Indian place value system, Ria saw the short form 'TTH' in her math book. What
does 'TTH' stand for?"

A) Ten Hundreds

B) Thousands

C) Ten Thousands

D) Ten Ten

Ans- C) Ten Thousands

EXPLANATION - TTH =Ten Thousand Place.



Q-9. Jaya has X100 in %10 notes. How many %10 notes does he have?
A)1l

B) 10

C) 100

D) 1,000

Ans-B) 10

EXPLANATION - 10 x 10 = 100. So, 10 tens make 100.

Q-10. A cyclist can cover 15 km in one hour. How much distance will he cover in 4 hours at the
same speed?

A) 15 km

B) 30 km

C) 45 km

D) 60 km

Ans- D) 60 km

EXPLANATION - 15 km x 4 hours = 60 km.

SECTION C: TWAU

1.Which of the following contains salty water?

ANS. C. Ocean

EXPLANATION - Ocean contains salty water , rest options are source of fresh water.
2.Why can’t we drink salty water from the sea?

ANS. C. It contains salt and is not safe to drink

EXPLANATION - As sea water is very salty and it is not fit for drinking.

3. What percentage of the Earth's surface is covered with water?

ANS. C. 71%

EXPLANATION - As per the study available 71 % of earth is covered with water.

4. What is the process called when water moves from the Earth to the atmosphere?
ANS. A. Evaporation

EXPLANATION - The process of changing water into vapour is called evaporation.
5. Which of the following statements is true?

ANS. C. Most of Earth's water is salty.

EXPLANATION - Study says most of the water available on the earth is in ocean.



6. Where does the Luni river originate?

ANS B. Aravalli Range

EXPLANATION - River Luni originates from Aravalli range.

7. What is the main function of water in our body?

Ans.To regulate body temperature and transport nutrients.

EXPLANATION - The main function of water in our body is To regulate body temperature and
transport nutrients rest are not main function of water in our body.

8. Which one is NOT a river in India ?

ANS. C. Amazon

EXPLANATION - amazon is not an Indian river, rest all rivers flow in India
9.Which one of these helps in saving water?

ANS. B. Fixing leaking taps

EXPLANATION - as per the given options Fixing leaking taps is the most suitable option for
saving water.

10.In how many forms Water exists?
ANS C.3
EXPLANATION - Water exists in three forms Solid, liquid and gas.



